DHAFE AHFERRR
@A —F EBEHRS ] 8 =] 8 Ex ]
124265 TFHEWR SHERKRIEEE 0 P - HIRFTEL T 0
R TIKES
RIS 0 FTELEEE (KATEE2SD, ) i 3,417
EREXSKESHAD R51.1RD I REEARAD 750 BEAS i 0
i o REPOKR IS ETE 520,000 BRI 7T 0
(DBEBKICHDDED) ’ IE?QE !
REHKAD v =
S e K S bk Be0) 0 SERAH A 0
; E TEEEETTE mewmkesmn 0 BiiREE B i 0
= (5BEKICADBED) & tl 2
S 289,698 BHEHRAD 0 BT T 0
B8 TKES MEEZIKIER e DR - PRAME
A 1,903,436 PR IER 0 SEEEY A 0
- BEPAAD - .
Bl e ’ 55 HE KBRS OEEREBRSE ’ AREE o o '
I SEE -
o Zoth 0 PR IER 0 SEEEY A 2
BES AT 0 REEHKAD 0 @ T 0
wiE INEIEESHEK IS B ;f;&g;;?; wEes
Tt 0 Soekiconsem 0 SRS A 0
e P 163 J=2a=5+ - JSVRMBAD 0 B ik 0
BEE  sppepe == 163 SHES (CELEAD so0s| |Zom0  ETE EHEN 0
= ekl : FOETRI 75 = A
RELR (HER) 2,681 | ThEIIINEsR BT 0 [ERE T 3
RBM - ABEE
MBIER (FhETAD 2,664 P —BIE 5SS TINES | BT 0.0 SIEBEM A 0
Lhi*ﬂiﬂt
=
MEBAO 634 ox e | HEIRNTIAEER (e 0 B £l 0
L e ; e 3RS
FE=zl) FRHINES 324 : —BIEISHAEINES | BT 0.0 SIS A 0
=
LR WEAD 6,413 s, DONIEE  mmE 0 A it 1
_H = PFERIZ
FRIHINES 2,101 A —BIEI5HAEINES | BT 0.0 SIS A 0
EIENE A 0 = g TREIA T HEER R 0 [ERIE & 1
mSkiE o bl Tl
—EPEHEEE | A 0 % —EPBIBHAS TINGSR | ERTEL 0.0 SIS A 0
EkBEFE #BKAD
uy EIENE A 0 - TREIA T HEER EPTEL 0 RREEYY— [ERIE & 0
BRAIK BEEA
H 4O EEEN — -
BHEIEEY | _gemman| o 0 Th _uEnEatIER B 0.0 BEOR R & 0
IREHKAD A 0 - IREMSR | ThEIA TIhEER R 0 BROR SERSH A 0
REENEER
SEHOKRKISERE | nf 0 SR | B IR R 0 [ERE T 19
a— - EAER
BESKKSEE 0 WME | HENIIRER BRI 0 EEE nf 1,911
Bl s
HERRILEESR 0 ?ﬁﬁ e | TETNIIZNE G 1 Lty (o) 340,962
THEIE
TKBE L/HTKE RERRNRIBH 0 B GE@RE) 39,757
REYUE
HENEREEE 0 i (HtoEE 453,807
BN R 0 By GEER) 129
REDMERIEAAD 0 THRIRES Tith (& 0
2E
B ERRERAD 0 ZDMOEE iy (Gtid) 0




